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1. The length of an object is divided into 3 parts. Each part is measured to determine the total length.
The first part is 6.13 mm long. The second part is 256 cm long, and the third part is 64.3 m long.

a. What is the total length of the object? b{, q W,

b. How many significant digits should be used to describe the total length?
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a,,;?L1/Db.-2. How many seconds are there in September? c
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3. A hiker walks 1.50 km east. He then turns around and walks 2.50 km due west. He turns again and
walks 0.75 km east.

a. what distance did he walk? 'l '7f Kt*".

b. What is his final displacement relative to his initial displacement? , Sb M UJqrr{
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II Conversion Factors to Sl Units

Google is great for converting units. For example, to convert 10 feet to meters, type "10 ft in m" into
google.

Acceteration

1flls? = 0.3048 m/s2

g = 9'807 m/s2

Area

1 acre = 9.807 m/s2

1 f( = 9.290 x 10-2 m2

1in2 = 6.45 x 10a m2

1 mi2 = 2.59 x 106 m2

Density

1 g/cm3 = 103 kg/m3

Energy

'1 Btu = 1054 J
1 calorie (call = 4.184 J

1 electron volt (eV) = 1 .602 x 10-1e J

1 foot Pound (ftlb) = 1.356 J

1 kilowatt hour (kWh) = 3.60 x 106 J

Force

1 dyne = 10-5 N
1 lb = 4.448 N

Length

1 angstrom (A) = t0-10 m
1ft=0.3048m
'1 in = 2.54 x 10-2 m

1 light year = 9.461 x 1015 m
1 mile = 1609 m

Mass

l atomic mass unit (u) = 1.60606 x 10-27 kg

1 gram = 10-3 kg

Power

1 Btu = 1054 W
1 calls = 4.184W
1 ftlbis = 1.356 W
t horsePower (hP) =746\N
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l atmosphere (atm) = 1.013 x 105 pascal (Pa)

1 bar = 105 Pa
1 cmHg = 1333 Pa

1 lbtft2 = 47.88 Pa

1 lbtin2 (Psi) = 6895 Pa

1 N/m2 = 1 pascal (Pa)
1 torr = 133.3 Pa

Speed

1 fUs (fPs) = 0.3048 mls
1 km/h = A.2778 mls
1 mi/hr (mPh) = 0.44744 mls

Temperature

TK"trin = Tcetsius = 273.15
TK"tri, = (9/5).( TFahrenheit + 459'67 )
Tc"trir" = (5/9).( Trar,renr,eit - 32)
TK"trin = (5/9)*Tnantine

Time

1 daY = 86400 s
1 year = 3.16 x 107s

Volume

:l ft'= 2.832 x 10-2 m3

1 gallon = 3.785 x 10-5 m3

1in3=1.639x10-5m3
1 liter = 10-3 m


